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General Instructions to the Candidate :

1. This question paper consists of 38 questions.
2. Follow the instructions given against the questions.
3. Figures in the right hand margin indicate maximum marks for the questions.

4. The maximum time to answer the paper is given at the top of the question paper.

It includes 15 minutes for reading the question paper.
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2

I. Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer and write the complete answer

along with its letter of alphabet. 8x1=8

1. The major effect of the First War of Indian Independence was

(A) The rule of East India Company was ended

(B) Supreme Court was established in Calcutta

(C) Jhansi became an independent state

(D) Nanasaheb was given pension

2. Hiroshima and Nagasaki cities are in

(A)  United States of America

(B) Germany

(C) Japan

(D) Poland

3. The headquarters of UNO is in

(A) Rome (B) Paris

(C) Geneva (D) New York



“Truly, the whole mankind is one” is declared by

(A) Mahatma Gandhiji (B) Pampa

(C) Jyotibha Phule (D) Basavanna

Silicon Valley of India is in

(A) Karnataka (B) Maharashtra

(C) Gujarat (D) Kerala

The city called as ‘Manchester of India’ is

(A) Davanagere (B) Coimbatore

(C) Mumbai (D) Indore

The financial year in India starts from

(A) April 1st (B) June 5th

(C) November 1st (D) March 1st

In India the District Industrial Centres were started in the year

(A) 1947 (B) 1954

(C) 1966 (D) 1978
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II.

III.

Answer the following questions in a sentence each : 8x1=8

10.

11.

12.

13.

14.

15.

16.

Who was the first President of India ?

Name the fascist dictator of Italy.

Why was the Trusteeship Council established ?

Which article of our constitution prohibits the practice of untouchability ?

What is the reason for low temperature during the winter season in India ?

Where was the first paper industry of India established ?

What is decentralisation of power ?

Who is called a provider ?

Answer the following questions in two to four sentences / points each :

17.

18.

8x2=16

Explain the functions of Union Public Service Commission.

OR

Explain the objectives of Food and Agricultural Organisation.

Mention the nature of riots.

OR

Mention the ill-effects of dowry.



IV.

19. Annie Besant gave a new vitality to the activities of Theosophical Society.
How ?
20. How was Junagadh merged into Indian Union ?
21. Write a short note on the islands of India.
22. Explain the geographical factors essential for the cultivation of wheat.
23. The gap between urban and rural areas is increasing. Why ?
24. What are the reasons for the exploitation of consumers ?
Answer the following questions in six sentences / points each: 9 x 3 =27
25. Explain the Second Carnatic War.
OR
Explain the economic causes for the First War of Indian Independence.
26. How is Black soil different from Laterite soil ?
OR
How are Evergreen forests different from Deciduous monsoon forests ?
27. Explain the achievements of Five-Year plans.

OR

Explain the significance of Public Finance.
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28.

29.

30.

31.

32.

33.

34.

35.

Mention the functions of banks.

OR

Mention the functions of entrepreneurs.

Police system underwent continuous changes during the British

administration. How ?

Explain the conditions of Subsidiary Alliance.

Explain the basic principles of Indian Foreign Policy.

Unemployment has become a serious social problem. How ?

Analyse the importance of Remote Sensing Technology.

Answer the following questions in about eight sentences / points each :

4%x4=16

“The struggle of Puttabasappa against the British is ever remembered.”

Justify.

OR

“Hitler’s ambition to popularise Aryan race became the cause for mass

murders.” Justify.

Explain the struggle of Santals against the British.



VI.

36. The Central and State Governments have taken several initiatives for the

empowerment of gender minorities. Illustrate.

37. What are the causes and effects of earthquakes ?

38. In the outline map of India provided to you mark any five among the

following : 1x5=5

a) Torpic of Cancer

b) Kosi project

C) Kaiga

d) Vishakhapatnam

e) Gulf of mannar

f) Upper Krishna project

g) Gawahati

Alternative Question for Visually impaired Candidates only :

( In lieu of Q. No. 38) 5

Explain how the Himalayan mountains helpful for Indians.




